Quiz No. 3 Name__ SO 7708

ME 270 - Summer 2024 - Prague

Given: A homogeneous bar of a known weight W is
supported by a vertical cable at point D, and by smooth,
vertical walls at ends A and B.
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Find: Determine the reactions on the bar at ends A and
B. Express your answers in terms of W. 4
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Solution:
Step 1 — FBD: Complete the FBD of the bar in the figure y
provided to the right.
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Step 2 — Equilibrium: Using the FBD, write down the
three equilibrium equations for the bar.

() ZAR.=MNa-Na =0 => ra=KNz
@ LR=T-W =o = 7T =W

(6) Z/‘”-:Td.-— (é?t‘) +/U5(5¢(,—h49)=o
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Step 3 - Solvability: Write down the number of equations and the number of unknowns.

54#uhcns/5 vniernowns (- 7, A/4) /Ja)

Step 4 — Solve: Find the reactions on the bar at ends A and B. Write your answers in terms
of W.

DE@): WA - 2 WL + 3 Medteno =0
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